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70 0O00O00O00O0

gogod,bbbodogbdobobbbooubob. bobggooobooogn
gooog.

7.1 OJooognd

gogud,gogbbouooooboooooboooooboboo1oobon
goboogad.

Ut 41 00oboog,bouboobboogd:

v =flxy). (7.1)

O00,y0 x00000000,0000'0 200000000000, f(x,y)0O
+0 y0 20000000000 (COO0DO0O0O0O0)oooOooOODOOO.

00 42 000 70000 7:0000000000000000 y=9¢(zx)000.
gogodg,boud . 00bbbg,bobboobb:

¢'(x) = f(z, 6(x)).

yU 2000000000000 0O0O0O0O0ODOO,0 OD00OO0,y0000000
000000, 000 (7.1)0 dy/de = f(z,y) 000000. 000, dy/de =y O,
dy,de 00000,y 0000000 (‘00007)00000. 00 dy, de 000
ooo.ut

gooobobbuobooooo

v =y—ux. (7.2)

O00000000000,y=2z+10y=e"+2+100000,000 (7.2)0
goguooobooooogn.

gobbboggoooobob, bbb obob,gobobooaon
1-0000000 y=4(z,¢)000000000000.0000000 ¢(z,¢) 00
0000000000000000.0000,000(72)00000 y=ce"+a+1
gob.odbbbd e=00 e=1000,0000000y=o+1,y=€e"4+x+1
gao.

000000000 ¢(z,e) D000 100000000000 0C0O0OOOODOOO.

lDoo00D0000000,00000000000000000000,000000000000
oo,17,18000o00oboboooo,0booooboobobooo.
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00 159. O00oO0ooOooooou (DD)DDDDDDDDDDDD
(a) y=0,y=1(0000)H)0 () y=1,y=u=.

0000071000000 f(z,y)0 2, 0000 y 0000 2,y0000000
00.0000,0000000000000000000

/

y' =2, (7.3)
y' = cosu, (7.4)
y =y (7.5)

gb 160. OO0 73,7400000000. 00,000 75000000000.
gbg 730 740,00000 «0000000DODODOODOODOODOOODO

y' = flx). (7.6)

gbooobb,bbobobdoobobuooobobogo

yz/f@Mw (7.7)

000000000.000,000000000000000000000000
00.000000000,F(x)0 f(x)0000000,0000 F(z)=f(z)00
000000000,00076000000000000000

y = F(z) + C. (7.8)

gooo cooooobo,bboredbboooooo. og7800bogoo

oooooood, (»,y) 0000OO00O0O0.0000,000 74000000 7.1a0
gogboogn.

ol N = =~ =
wi-f: B G
N7 AN
\/i/r\i._l:‘“_ = >-

U 7n0b0dobooogoooooon

gboboboggboboboobobo,bogubbboooobooubobbobo

00000.000 ¢ =f(s,y)00000000,0 (v,y)0000(OQO000000)
00000000 (0000000,0000000)0,000000 f(z,y)0000
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O00000000.000,0000000 (¢,y) 00000000 (ODOODOOOO)
gogbooobbodo.bobobobboobbooborabbbobboobd
goguoboooogogobobo. obbg,ggdbbooobbooooboobbobobo
gbobboooobbboooobbbbood.
gogbboggoobobuob,gbbuobbobbbooobbooboooboo
ggbbobboooodg,bobgbbbbuobodbbboobbboobobbbo
g.gggubooboooogoboboobo. by, 720000000gg 740 7.2
goodgobbboooobobooobob.

j‘i T e
,1'//“
VA AN
//Jrﬁ—\\
,f /7 A j]i S ‘\\, _\__ -
NN U
A W N U :
O 7200000000000000000

gd 161. 000 7.3,750000000000000000.

ud 162. 0 7300000000000 0000ODOCODO.ODO,0000O0O0O
gboooooooool ¥

73 0000040d

0000000000 (y0OOO)7.60000000000000,0000000
00000000000
y' = flx)g(y). (7.9)
000,0000000000000000. ¢ 02000000 dy/de 00 (ie.
y =dy/dz000),79000000,00000000

—— = f(z)dx. (7.10)



146 o700 DODO0O00OO00D0OO0

gbobobooob,ggdoobooououu.gooo,gbg yobbb,0od
g-00000000.0000,79000000000000D0O0O0DOOOOO. 7.10

gooooooooaa, p
/g<y>‘/f”d (7.11)

000 (@00000000,0000000000 CcoOOOoOoOoOooooOoO). oo
0,(79)00000000000000.00000,y0 c0000DO00O0O0OOO,0O
ggobobodgoobbboodao.

00 58 000000000000000O0
y' = (2z +1)/(3y%). (7.12)

00.00000000000000, 3y?dy=(2x+1)de000. 0000
0000000,y =22+2+C000.0000y=Va2+z2+C. 000
71200000000.

000000000 (79)0000000,00000000000 10000 2,0
b yboobbuooobooo.

gd 163. 00O 75000000000.

7.2 OJUOOon

gbobobodoobodboobo—-obbbuo--000oooooogbobooogo
gbboggboobbooboobboobobuobbboobubobooogo

g.oog
vo= ¥(z,y)
0000,00 2,y000000 »,v00000,000¢ =f(z,y)0,00000

v = g(u,v) (7.14)
O000.000,000'00 «0000,«00000000000000.000
g,b0o,bboooooboooboobob,bobbogoobobo.raspoooobo,
ggoooobooooobobobooooog.
gobogbobbbou, bbb ooobobobooo. g
gobobbobobooobooooooogoboooooag.

00 59 0000000000 0ODODO0O0O00O0O, 000y =y—2 (7.2)000.
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gd.gogoobobdgoogao

u =
v = y—ax—1.

v=200000,«00000000 000000D0O0O0O0. OOO,0O
O00O0'c0000,000ooooo.od,y =J)4+100000,000
000000000 0DoO00,000 o=0000.0000000000
oo00,000 v=Ce*000. OO0 2,y0000,0000000000O
y=Ce"+2+100000.

00 164. 000 ¢ =y*+22y+22—1000000000000000000
oDooo.

ggoboog 130,00 200000b00040oon.
l.z,yOuobooobuoboubodboobbd,w,vbboogboobbo
gbobbogoooboooo.goob,uo

u = y/a?+y?
Vo= arctang
x
goo,boood
T = uUcosv
Yy = usinv

00000 (u,0)00000.

2. 0 (z,y) OO (u,v) (u=p(x,y),v=2y,v) 000000000000O00O0
godbobo. oo, bbb oooouoonoobo.oooooon
guoddoobooobooboob,200bUdld @ =-const,y=const U OO OOONO
gogon.

7.3 Bernoullill [ [

00dddbOO000dbOdooooobooooooono, OO, Johann Bernoulli
gooo.oo,ouodgo
y' = Ay + By", (7.15)

0000 (DoOo0O000000000b00o0b0O000).000,A BOOODOOO
g z0000000.00,000000000L0O0OO00O000O0DLOOOOODLOAO
goon
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y' = Py+Q, (7.16)

0o0,P,QO0 x000000.

oo, 0o0oooooooooooooooo. oo yd y=w 00O
0. 0d0d,w,v0, 0000000 0000000, 000000 716e0oon
O,00o0o0ggad

w'v+uv = Puv + Q.

20000 o =Pu,»=Q/u00000000,00000000000.0000
000,000000000000.000,00 w(z)0,00000.00 w(z)OO
0000 o=Q/u000000,0000000 »x)0000000000.000
00,0 y=wu(x(z)0O0O0OO0OO.

00 165. D0O0OO0ODOO0ODODOOOOO
y':2g—x3+w.
T
00 60 BernoulkOOO 715000000 7160000000000.

00.000 71571600000 y00000000000000.000,
y=0*00000000000000000 (0000000 200000).
(7.16)00,y=0"000000

kv to' = Ao + Bokn,

ooo
A B
! kn—k+1
v = —k?} + _k v .

O00.k=1/1-n)0000,00 kn—k+10 0000,0000000
00000000.000,000000 y=/0""O000000000

g 166. OO0OO0O0OOOOOOOCOOO

,_xy2+1
=5,

001600000 (DO00,0000000000000)000,0000000A0
guogogooo,bbuogbbodbguooobooboboooooooo. oo
gbog,gbboobbobbooboboduoag. oo

/e”2/2d:v,

0,0000((@00O0,0000,00000,00000000000)000000O
go,db,bggoogooogbboboogbboudgboooo. bougoooboboon
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000000000o0ooO,0000000000000 (Do0,000000000O0
00000000000 0). 0000000000000 o0o00DoUoO. oooo
g,gbbbougbobbooaboboo.
ggbboog,gobbobboodood,bbobbo,ogobboobobb,bbod
gooogago.
gogboubbbbbboobobobb,0obboobbbo

y =y + .

(00000 18410, J.Liowille 0000000 0). 000000,0000 Riceati
000
Yy =aly’ +2") (7.17)

godgooboogd.

Ud 167. RiccatiODODO 7170 n=000000000000.

174200 D.Bernoulli 0 J.Riccati 0, 000 7170 00000000000 nO0O
godbuobogb. g, goboooobobodgbobuogao.bdg,gbo
I o i
gobboooubooubud nbbbooooobooobbboobd,n=0000
(0000,00 16700000000, (716)00000000O0)000O000OOO
gud.gboouogoooboboggd.

go,bgguooboubgbooaod

1 1

y=—-—
Ir-v axr

opoooooo7ivgoobooboobdg,»0b0bbobboboob

1 n
V' =a <—p — +2112> : (7.18)
000,0'00,00000,2000000000000.
000,000 Riccati 00000000, 002u=2"" (000, z=u"/")0
0000000 00000, Riccati 00000DO0. 00,000000000000

g

dv dv du dv n+2 dv
r_ 27 _ 770 _ 7 n+2: s
v = o g du(n+3):v (n + 3)un+s e

00000, 000000000 71800000000
dv a 2 _n+4
— = v+ u .
du n—+3 n—+3

2Bernoulli 0 Riccati 000000000000 0O0O00O0OOOO. 000D0O0O0O0O0ODODOOOO
oooooooOoooooooooo!
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0000 RiccatiD000000,00 nO00000 —(n+4)/(n+3) 0000 Riccati
oooooo.
0000,n=-4000000000,0000000,r,=000000000
0—000,0000000000000.00000,n=-4000 Riccati 000
0000000000000000.

00 168. 000 ¢y =4+ *00000000.

00 169. Riccati 00000000000 nO0DO010000000.

OD0000000D0DO00,000000000dd. 000d0dd RiccatiDOOO OO
m O00000000000000,000 —(n+4)/(n+3)=m ie n=—3m-+
4)/im+1) 00000 n 000000000 OOOO0OOO0ODODOO.

0000000000000 0000000000

3m +4
S m+1

00000, RiccatiD OO 717000 mOOODODODOOO0OODOOOOO,00000
qm) 00000000000 O0OO. OOOOODOOOOO, 00 q(g(m)), q(q(g(m)))
0000,000000 ¢"m)DO0000000D000O0OOOOOO0DOO. 000, ¢
000 g0 kOD00O0O.

q(m) =

00 170. ¢*(m)0O0DODO.

000 ¢'00,000000000000000. 000000 ¢tOoOoooO
guobggogooboooubgogboobdooboooobobob.oooub,00on
Ui ¢uuuboboboboooobobiobo.ooobbbob,gobbbodgo
(Raccati D0 OD0O0OD0O)00000. 0000000 RicattiDO0OODODOO,0000
gogbbobb.boubo, bbb uooau,gbbbuoubbabbo
goobooobogogobobobbbboo,ggbobouoooooooboobobobobbn
ggbboooobobbooooooogg.

OoO0,0o00000,0000000Riccati DOODODOOOOOOO.OO0OOO

oooo .
4
k
- y/
¢0)=7—r (keZ)

000.k—oco000,¢(0)—»—-200000000000.

00 171. Riccati 000 7170 n=-200000000000000000
gd.

gobdobooooboboobobiob n==-2000000,n=200000
googooooobgobuoobbb.ogdb, =20 ¢g0OOOobog,oooaf
1bgbuogooooogad.

O0,Riccati DODODOODOODOODOO, 0000000 2000000000. J.Li-
owille I, 00000000 OOOOO0OOOO,Riccati OO DOODODOOODOODO
goooog.
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7.4 000
0000,00000000000000000
v = p(u)
{y==wWw% (719

o, tddbd «. 0o « oo gbd. gobda,ond
dy/dr =dy/du- du/de 000,000 dy/de 0 w,v,du/dv 0000000000.

000,00000 2= ¢(uv),y=vwe) 0000000000 (0O0O0O0O0O0).
00000000 dy/de 000000000000 0OODO, 00000000000
gog.

00 43 z=h(z,y) 0 20000000. 0000,y 000 y=y 0000000
0000,:0 10000 z=h(z,y)000.00 z=h(z,5%) 00 2000000
0000 h(z,y) OO0 (w,5%) 0000 x 000000000000, Z(x,0) 0O
0.0000000000000000

oh _dh(%yo) T h(zo + <, y0) — (o, y0)
%(IO? Yo) = Y R lim . _
od 61 OO z= 9—$2—y2DD(2,1)DDDD$DDDDDDDDDDDDD.

O0. 0 y=1000000,10000 z=+v8—22000. OOO,
z, = —x/v8—22. 000
0z

—(2,1) = —1.
81'(,)

O (w0,%) 000000, Z(z0,9) 00000 29, % 000000, 000000
(z0,0) 00000,00 (2,y) 00000,0000000 2,y000000, 92/0x,
0000000,2 00000.000 ;0 200000000000.0000,0
0:=,9-22-420 »000000000,00000000

dz x
dr 922 2

0000 -, 000000000, 2(,y)0 »000000000000000. O
000,00 y0OOODOOOOODOCOOOO.
y00OOOOOO0OD0OO00000000.00000,,00000000.0000
0,00 2=+9-22—y20 y0OOOOOOOO,00000000

A
dy VI— a2 — 2

00,0000000000000000. 0 (2,y,2(2,y)) 00000000003
0000000000000 00000,00000200000000000. O
74000 2=+9-22—20000000.
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074000

0020000000 MOOOOOOOO (x,y)00000000000. 00
00,00 y=y 0000000.00y=y0,y=y 000000000000
00 MOOODOOD.000000 (x0,y) 0000000000 z,(z0,y) 000,

00, z(ze,y) 0,00 z=2 00000 MOOOOOOO0OOOOOOOOOO.
0740,00 z=,9-22—4200 (2,1)0000000000000000000.

00 200000000,0000000000000000000

000000,000000

z—z9 = plx —x0) + q(y — vo), (7.20)

DDD.DDD,%:h@m%%p:%@m%%q:%@m%)DDD.DD,x:mD
720000000,y 00000000 h(ze,y) DO00DO0O00O0O00D0DOO0ODODO. O
O,y=y 000000, h(z,y) 0000000000000,

O (z,y) 0, (z0,%) 0 0000000000000, MM OO0 (2,y,h(x,y) 000
O (7200000 (a,y,p(z —x9)+qly—1y) +2)0,000000000000000
0.00000,0000 (ze,%) 0 (ze,9) 00000,0000 (000)00000
00000,72000000000000 2—20,A(x,y) 000000000000
000.0000,300 #,y, 000000000000 dr,dy,dz0000,00
000000ooooooo

dz = zpdx + z,dy. (7.21)

(200000000000)
gu,btd z,y0dbog,oggobbbudgn

r = @(U,U)
(7.22)
{y = (uv)

00000,dy/de 0 v, v 0000000, ¢ =dy/dz, v =dv/du(000'00,00
0000000000000 00N)0000,721000000000000

,_dy _yudutyde  yutpege gty
dr  zvudu+zodv  x, + a;vg—z Ty + 20"

(7.23)
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00000,000 ¢ 0 «w00v000000000C0O JOOOOOOO,0000
00000000000 000000O0 (6200). OO0D0OO,000000000
g, gbuogboougooogboboobboobob.boo,gguooooooboon
gogoog.

gooogoobog,r2bdbbbugoggogooboboobbooobb,ood
0 (u,v)— (x,y) 0000000000000 O0O0OOOOOO. OO0O0OOOOOO,
r23000000000000000b0obo0bbobbooouboobOooOn
o000 (0 7500). 0000 JO00000000D0O0O0O0O0OOO0OO00OO0O0OO0O,
00,y 0000000D00000D0O0DODODO0O0O0O0.

g 75000

00 (00)00000000000000000000. 0000000,3000
(z,y,p) 0000000DO. 000, (2,y) 00000000000O000O,p000
00000 (000000000000000)000.00000,00000000
000000,3000000000.0000000000000.00000000
00,0 760000000,

y
o

e

i -
x | X

g 76 000000

72300 72200000,000000000000000000O0O. 00,000
r2200000000000000000000O0DOODOO.

00620 2z°2+¢*’=1000000000000000000000000000O.
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00.00000000, (5y)000 (vo)0OO0O00

T
u =

2 4+ y?

v

2+ y?

gooooooooood
y? — a? —2zy

Ur = T 5 o9 Uy=77F "5
(@2 +y?)?" 7 (@2 +y?)?
N el
@ @2+y2)2 Y (@ +y2)?

gogobo,gbb v2300000000bbobooan
2

U, _ Uz + Uyy, . (I - y2>yl - 2$y

. 7.24

Up +uyy  —2xyy +y* - a? (7.24)
000000000, 000000000000000000. 000,00 15300
00000000 (p.136)

U B ggbobbdouooboboooobbbog.

U0 20000000, oooooouooo. (x,y)fDDD
20000000000 o0 po0dodn0, 000000 oood o
P1— D2

tan o = .
L+ pip2

ooo.
¢, 0002000000000000,3000000000000,00000
0o0oo

q1 — 42
tan 7 = . 7.25
1+ qige ( )

072400

ap; + b
bp1 — a
aps + b
bps — a
O000.000 «b00 (x,y) DOOODODODOOOO.
0000000 7250000000

ap1+b_ap2+b

q =

q2 =

bpy —a bps — a P1— D2
t = = — :—t
an 3 L+ apy + baps + b 1+ pipo an @,
bpr —abps — a

gbob.gddgbdg,obodboobbooobb,bbooboubbooobobo
goo.
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oo,

gbobgboogboboooooobuobooooooogan.

g e3 Ugobouooon

g

7.5

(y? — 2?) <x2 + (2? +y2)2> + 22y <y2 + (22 +y2)2>
2ay (22 + (22 + y2)?) + (22 — y2) (2 + (22 +2)%)
od.o0o0o00ooooood

/

y:

u
xr =

u? + v?
B v
YT @
J = (u? — v?)v' — 2uw

—2uvv' + v? —u?’
goobooodoooouuuou,ouooooooooaoo

, ur+1
v = )
v2—1

00000,000000000000, (¥-1)dv=(+1)due00000,
000000000000000000

v u
=4
33"

000 (v,y) 0000,
y' =t =32 +y) (@ +y7)° + O +y?)°

ooo.cooooooooo.

172. (a)(z,y) D0DO0ODOO, (ne) 00000O0DD0D0000O. OO
00, dr/dp O dy/de 00000O0O0. (b)(a)DODOOOOO, 00000
yy' +x = (" +y*)(zy' —y) 0ODO .

1-00000od

Ub 44 00000 -00000OO0O0O0OO0ODODOO0O0 ROODOOOODO.

00000000 +0000,0000 ¢000000000000000000
00000000 s,teRODO0O0,000 gogs=¢,00000. 000000,
0 ROODODODOOOOODOOOOO0O000000000.0000,{¢}0000000
01-0000000000.1-00000000,00000 {¢}0000,0000
0000 t— ¢ 0000000000000000.

00000 1-000000000000000,000000000.0000, Ox
0000000000, 00000 te, 000000.000,e, 00000000
ooooooo.
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gd 173. 1-0000000000000O0COO200000,000000000
goo.

1-gbobuoggb 3gobbouoooobobouooon

= t
Y = 1/}(37,yat)
000, (x,y) DOOOD0O0OOOOOOOO, (z,y) 000 ¢o0000000000
ogb.t0ogodoooooo,ddoodoooooo 20b0o0o0ooon.
0000,0000000 gog, =g, 0,0000000 ¢, 000000000

olo(x,y,s),¥(z,y,s),t) =p(x,y,s+1)
{ Vo, 9), 0 (x,y,9),t) = V(w,y, 5 + 1), (7.27)

gooa,bubgbdd 1-boguaobbbbodd.
gobo,toggobbboogboobobobbbooobbbooad

Ty = I+t
Y =Yy

goooobo 7r2rggbogggaoon.

0gd 174. 00O0O0ODOOOO0O0O0O00O0ODOOOODOOOOOOO,1-000000
gboogo.

gooooobo,0b140d0bbooooooobbooobooobooobooDo. b
god,1-gbguooobgoobbobobboob,ooguobbooooban
oobogboobooooooooob. bo,00bb teRO,0000000 ¢tDDO
gbbdgbobdoog,-gboguogbobooboooboob.obogg,og sg
t0oooboogoub,ud s+t oubbbo,gdsedbboubgoon
god.bogbob,ugogoobooobobooooob.boboo,booboooobo.
0¢0,00 000000000000, 000000,1-0000000000. 0
gobobouogogooag,gobbgogbboo,gbbboubbuogobo

r, = e

Y = ety-
o000 72r0oooooon.
3 I A A A 6
O, 0o0ooouooouo2oduo-ooooooo-o0ooboooodn.

goubobgbgogbobodgo,ogbbdab,1-ugobogooooooooon
gbodggbbog.ooboodgo,2000booo

T, = x+2t
Yye = Y
00000000000.0000000,000000 (077a00000)000
ooooooooon.
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— N7
i N

gr7-0ob0dgoob 1-0b0ogooan

gd 175. 10000000000 1-000000000000. 00,00000
gob,o0b0ooo.

g 176. 0O0OOOO, 100000000000 OOOOOOOOO

vy = e“(xcosbt —ysinbt)
yr = e“(xsinbt + ycos bt)

g, 0odbgooboooooo,ooooa.
00 177. x,yp 00000 wO 20000 O00O0OO
(w—2x)(w—y)+t=0.

000, a2,y 0,2,y,t0300000000.0000,00 2, 00
00 1-0000000000000000000.00,0000000.

76 UJUoogoog

000000,000000000000000,0000000000. O7.1b0
00000,000000,0y00000000000000000000000. 0
0,0:0000000 2r00000000000000. 000000000, 1-0
000000 o=z, y,=y+t00000.000000000,000000000
0@oo).

000000000000 1-000000000000,000000000000
00000000000000.

0000000000,00000

ooodnf
r = ¢(u,v)
{y==¢Ww) (7.29)

ooooooooooo.
72300,y =dy/dz 0 u,v,v =dv/du 0 00000000000.
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o0 45 DOO0Oooo, od u,v,v'DDDDDDDDD
v = f(u,v)
ooooo,0o0oo0 7290, 0000o0o0ooog 7z2s800000a0.

gooooo,0od,722-72300000000000000000000O0,00¢0
goodoobuoggbbooobooubooobobobobuooobuoooooon.

g rs30dgdbogooooooouooon

0780,00000 ¢y=cosx0000000D0OO0ODODOOOOOO. 20000

Ty = X

Yy = y+t
bt = P

Ty = x+2
Y =

bt = P

g,bbobbooodgboobuogbboogg.
goobodi-opgbgobbuobodgoubog,200bgoggoboa

1.0000000000000000.0000,000000000000000
(000,0000)000.

2.000000001-000000000000000000.0000,0000
00000000,0000000000000000000000000000
000000 (000,0000)0000.

(00O000000)0000000,00000D0O00D0OOOODODOOOOD. 00
g,.buobgbbuodgugbggo.boogo,oboobbbobobobb.
200 000oboobobb.booobbuoobo
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e x-J0000000D0D0OO0OOOOOODODOOUDOOOO (7.500)0

y' = f(y) (7.30)

gobboobooobboogooo.

00 64 (0,00000000 ((x,y) 000)0000000000000000000
ooooooo.

00.0 «0000,000000000000000000000,000
a00000 (0 7.9)

y i

o
e -—
=

7o oguooogooooggn

000,0000 (v,y) DOODDOOOODOOOOO,00000. 00000,
000 (=00000)000000000000000Doooooooog,
gbooobbobbbobobbbdo,bbooouubooobboogo
. bgoogo,bobbgodg,ggbboob,goboboobogon
god.20bgbbogobooobbbooboobo,gooobbo.oog,
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